PARTS LIST / LISTE DES PIE CES / LISTA DE PIEZAS

ITEM NO. / ARTICLE NO. / ARTICULO NO : DS-D438-300-1/ 2
DESCRIPTION /DESCRIPCION : Bookcase / Bibliothéque / Biblioteca

A
x1 Shelf
x1 étagére
x1 repisa

*

x2 Ladder
x2 Echelle
x2 Escalera

I *
x16 Pan Head Screw M4 x 28
x16 Vis a téte cylindrique M4 x 28

x16 Tornillo de cabeza plana M4 x 28

\

B
x1 Shelf
x1 étagere
x1 repisa

*

x2 Allen Bolts M8 x 40

X2 Vis a téte creuse hexagonale
M8 x 40

x2 Perno Allen M8 x 40

L—

J *
x1 Allen Wrench M5 x 65
x1 Clé hexagonale M5 x 65
x1 Llave Allen M5 x 65

\

C
x1 Shelf
x1 étagere
x1 repisa

*

G *
x2 Metal Plate @50mm x 2mm

x2 Plaque de métal @50mm x 2mm
x2 Placa metélica @50mm x 2mm

D
x1 Shelf
x1 étagére
x1 repisa

*

®

H *
x2 Hex nut M8 x 15mm

x2 Ecrou hexagonal M8 x 15 mm
x2 Tuerca hexagonal M8 x 15 mm

* Replaceable Part

Page 1 of 3

Residential Use Only

Made in Malaysia / Fabriqué en Malaisie / Hecho en Malasia
For assembly instruction video, please go to: www.myfurnitureinstructions.com



ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAIJE
ITEM NO. / ARTICLE NO. / ARTICULO NO : DS-D438-300-1/ 2

DESCRIPTION /DESCRIPCION : Bookcase / Bibliothéque / Biblioteca

STEP 1/ETAPA 1/ ETAPE 1 STEP 2 / ETAPA 2 / ETAPE 2

E
STEP 4 / ETAPA 4 / ETAPE 4
1 2
3 X
1 T

Turn the bookcase upright and place on level surface.
Adjust the adjustable feets so that bookcase is level and does not wobble.

Tournez la bibliothéque a la verticale et placez-la sur une surface plane.
Ajustez les pieds réglables de sorte que la bibliothéque soit de niveau et ne vacille pas.

Coloque la estanteria en posicion vertical y coléquela en una superficie nivelada.
Ajuste los pies ajustables para que la estanteria esté nivelada y no se tambalee.

Page 2 of 3 Residential Use Only Made in Malaysia / Fabriqué en Malaisie / Hecho en Malasia
For assembly instruction video, please go to: www.myfurnitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE
ITEM NO. / ARTICLE NO. / ARTICULO NO : DS-D438-300-1/ 2

DESCRIPTION /DESCRIPCION : Bookcase / Bibliothéque / Biblioteca

— T

A, B , C 4 D ,
x1 RD438-300-1/ 2-SHELFA - Shelf A x1 RD438-300-1/ 2-SHELFB - Shelf B x1 RD438-300-1/ 2-SHELFC - Shelf C x1 RD438-300-1/ 2-SHELFD - Shelf D
étagere A étagére B étagere C étagére D
repisa A repisa B repisa C repisa D
*
x1 RD438-300-HWKIT - Hardware kit list
Liste des piéces de quincaillerie
Lista del kit de materiales
Page 3 of 3 Residential Use Only Made in Malaysia / Fabriqué en Malaisie / Hecho en Malasia

For assembly instruction video, please go to: www.myfurnitureinstructions.com



